

$$f(x) = x \left[\frac{x-m}{x} \right] + a \left[\frac{x+r}{x} \right] \xrightarrow{x \rightarrow -r^+} x \left[\frac{-r-m}{-r} \right] + a \left[\frac{-r+r}{-r} \right] = x$$

$$\xrightarrow{x \rightarrow -r^-} x \left[\frac{-r-m}{-r} \right] + a \left[\frac{-r+r}{-r} \right] \Rightarrow x - a$$

$$x = x - a \rightarrow a = x \rightarrow \left[\frac{a}{x} \right] \rightarrow \left[\frac{x}{x} \right] \rightarrow [1] = 1$$

$\left[\frac{x}{x} \right] = 0$

$$\lim_{x \rightarrow \frac{1}{4}} [x \sin x - 1] \rightarrow \left[\left(\frac{1}{4} \times \frac{1}{4} \right) - 1 \right] \rightarrow [0] = -1$$

$$\lim_{x \rightarrow -\frac{1}{4}} [x^3 - x] \xrightarrow{-\frac{1}{4}^+} \lim \left[1 - \frac{1}{4} \right] \rightarrow [0.75] = 0$$

$$\xrightarrow{-\frac{1}{4}^-} \lim \left[1 - \frac{1}{4} \right] \rightarrow [0.75] = 0$$

داخل بركت علامه صحيح نيز مشد ← نيازى به دو ضافه كرون نيس

$$\lim_{x \rightarrow (-\frac{1}{4})} [x^3 - x] = \left[1 \left(-\frac{1}{4} \right)^3 - \left(-\frac{1}{4} \right) \right] = \left[-1 + \frac{1}{4} \right] \rightarrow \left[-\frac{3}{4} \right] = -1$$

$$\lim_{x \rightarrow (-\frac{1}{4})^-} \frac{10x - 5 + \left[\frac{x}{\frac{1}{x}} \right]}{14x - \left[-\frac{x}{\frac{1}{x}} \right]} \rightarrow \frac{10x - 5 + \left[\frac{x}{\frac{1}{x}} \right]}{14x - \left[-\frac{x}{\frac{1}{x}} \right]} \Rightarrow \frac{10x + 4}{14x + 1} = \frac{1}{0} = \infty$$

$$\lim_{n \rightarrow 1} \frac{\sin^2 n}{[n] + \cos n} = \frac{0}{0} \xrightarrow{\text{رفع القسمة}} \frac{1 - \cos^2 n}{1 + \cos n} \rightarrow \frac{(1 - \cos n)(1 + \cos n)}{(1 + \cos n)}$$

$$\rightarrow 1 - (\cos 1) = 0$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+3} - \sqrt{x+5}}{1 + \sqrt{x}} = \frac{0}{0} \xrightarrow{\text{رفع القسمة}} \frac{\frac{x}{\sqrt{x+3}} - \frac{x}{\sqrt{x+5}}}{0 + \frac{1}{\sqrt{x+1}}}$$

$$\frac{\frac{x}{\sqrt{x+3}} - \frac{x}{\sqrt{x+5}}}{\frac{1}{\sqrt{x+1}}} \Rightarrow \frac{-\frac{1}{\sqrt{x+3}} + \frac{1}{\sqrt{x+5}}}{\frac{1}{\sqrt{x+1}}} \Rightarrow -\frac{1}{\sqrt{x+3}}$$

$$\lim_{n \rightarrow 1} \frac{r_n - \sqrt{r_{n+1} + 8}}{r_n - \sqrt{r_{n+1}}} \rightarrow \frac{0}{0} \xrightarrow{\text{Hop}} \frac{r - \sqrt{\frac{1}{r}}}{r - \frac{r}{\sqrt{r_{n+1}}}} \quad \text{--- } \textcircled{r} - \text{v}$$

$$\Rightarrow \frac{r - \frac{1}{r}}{r - \frac{r}{r}} \Rightarrow \frac{\frac{r^2 - 1}{r}}{\frac{r - r}{r}} \Rightarrow \frac{-\frac{1}{r}}{\frac{0}{r}} \rightarrow \frac{\epsilon x - \frac{1}{r}}{r x a} = -\frac{1}{r}$$

$$\lim_{n \rightarrow \infty} \frac{a + \sqrt{bn + c}}{n} = \frac{1}{r} \xrightarrow{\text{Hop}} \frac{\frac{b}{r\sqrt{bn+c}}}{\frac{1}{r}} = \frac{b}{r\sqrt{bn+c}} \quad \text{--- } -\text{v}$$

$$\frac{a + \sqrt{c}}{0} \rightarrow a + \sqrt{c} = 0$$

$$\rightarrow a + rb = 0 \rightarrow a = -rb$$

$$\frac{-rb \times b}{rb^2} \Rightarrow \left(-\frac{1}{r}\right) \quad \checkmark \quad \text{--- } \textcircled{r}$$

$$\frac{b}{r\sqrt{bn+c}} = \frac{1}{r} \quad \text{--- } \textcircled{r}$$

$$\lim_{n \rightarrow -r^+} \frac{r + k\left[\frac{n}{r}\right]}{\sin n} = +\infty \xrightarrow{-r^+} \frac{r + k(-r)}{0^+} = +\infty$$

$$\epsilon - rk > 0 \rightarrow \underline{k < r} \quad \text{--- } \textcircled{r}$$

$$\xrightarrow{-r^+} \frac{r - rk}{0^-} = +\infty \rightarrow \epsilon - rk < 0 \rightarrow \underline{k > \frac{\epsilon}{r}} \quad \text{--- } \textcircled{r}$$

$$\xrightarrow{\text{I, II}} \frac{\epsilon}{r} < k < r \xrightarrow{x(-1)} -r < -k < -\frac{\epsilon}{r} \rightarrow \underline{[-k] = -r} \quad \checkmark$$

$$\lim_{n \rightarrow \infty} \frac{b\sqrt{r+\sqrt{n}} - rb}{an - b} \rightarrow \frac{rb - rb = 0}{an - b = 0} \rightarrow na = b$$

$$\xrightarrow{\text{Hop}} \frac{b \frac{\frac{1}{r\sqrt{r+\sqrt{n}}}}{r\sqrt{r+\sqrt{n}}}}{a} \rightarrow b \frac{\frac{1}{r\sqrt{r+\sqrt{n}}}}{\frac{a}{1}} \rightarrow \frac{b}{ra} \rightarrow \frac{na}{ra} = \frac{n}{r} \left(\frac{1}{r}\right) \quad \checkmark$$